
Skreśl wyraz, który nie pasuje do pozostałych. 

 
 

     kot     nos     koń 

pas     bat      rak 
ser     ryŜ      noc 

dom     bez     dąb     
gęś     paw     wąŜ 

     pan     dwa     sto      

ćma     źle     osa 

sen     sól      noc 

sok     sos     wóz 

oko    sad     łza      

Ala     Ola     Jaś dół     mur     rów 

nie    sad     las      

lew     lok     lis 

nos     oko     mak   

 lód     łoś     byk      

mak     Jan      Iza tak     nie     ryś 

lew     bal      kot gra     gol     miś 


